oStill under "Foundations”
section of your binder

oNeed your textbook!
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Fill in the blank with either < or >.
1) 104 12

5) Write 4 numbers that satisfy the
inequality o2, Y

X < 3.




Today’s Objectives

oUnderstand the similarities and
differences between solving
equations and inequalities

oGraph the solution set of an
inequality




SUPER, SUPER IMPORTANT

o It is crucial to know the difference
between an equation and an inequality.
Saying “one has an equal sign, one has <
or >" is not enough.

O Solution to x = 87

o Solution to x > =47




Differences between equations and

. . 5
inequalities L, o=

0 Discuss with your group: x=Z
o How many solutions do equations have: L:
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o How many solutions do inequalities have?
;‘nﬁnﬂc hwber(é &> leetion S X<3

oInequality symbols: <, >, <, >, #
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Find 3 solutions for each inequality:

1. X+ 3<12 Q,W,Vl,§

2. Xx-10>34 SO,60,70




Describe the solutions in words:

1) x+3<12
“"Numbers that are less than 9”

2) x-10 34
“"Numbers that are greater than or equal to 44"

3) <4

“"Numbers that are less than or equal to 20”

4) -3x> 12
“"Numbers that are less than -4"




Worksheet




Solving Inequalities

Keep the sign the same when:

= Adding or subtracting anything on
both sides

= Multiplying or dividing both sides
by a positive number
Reverse the sign when:

= Multiplying or dividing both sides
by a negative number




Remember: Graphing Inequalities

oGraphing Inequalities

OoClosed dot: > or < (means that
value is a solution)

oOpen dot: > or < (means that
value is not a solution)




Graphing Inequalities

o If I have “x > 8", could I just graph that
by putting a closed circle at 9?

)\ID _, od e &1, %2 ..
|







Solve and graph the Solution set.

_ Sx &
1. 5x -4 < 91 )(.f..l"l 1 %

z.zo——x>32“2

3. 18—32x —4)<6

18-Cy »12<0C
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4. 14— (—-10)=6x —4 +x
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Solve the inequality. Graph the solution
set.

e e —

|:|10—"'!5_’(2x+8)>4x+14
Jo- & -4 > Yy +\Y




Solve the inequality. Graph the solution
set,

2X -7 <5 4+ 2x




Solve the inequality. Graph the solution
set,

2(3y - 2) -4 = 3(2y + 7)




Homework

apg. 78 (7-10, 13-18)

oYou need to graph and solve
the inequalities!!!

oYou will get fractions as
answers some of the time!

oDo your work on a separate
sheet of paper if need be.




